






The inequality 6( 2) 7( 5) is equivalent to
which of the following inequalities?

23
07
17
37
47

The sides of a square are 3 cm long. One vertex of the
square is at (2,0) on a square coordinate grid marked in
centimeter units. Which of the following points could
also be a vertex of the square?

( 4, 0)
( 0, 1)
( 1, 1)
( 4, 1)
( 5, 0)

For , shown below, which of the following is an
expression for in terms of ?
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A bag contains 12 red marbles, 5 yellow marbles, and

15 green marbles. How many additional red marbles

must be added to the 32 marbles already in the bag so

that the probability of randomly drawing a red marble

is ?
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What are the quadrants of the standard ( , ) coordinate
plane below that contain points on the graph of the
equation 4 2 8 ?

I and III only
I, II, and III only
I, II, and IV only
I, III, and IV only
II, III, and IV only

The graph of 5 2 9 passes through (1,2 ) in the
standard ( , ) coordinate plane. What is the value of ?

2
4
7
1
8

Jerome, Kevin, and Seth shared a submarine sandwich.

Jerome ate of the sandwich, Kevin ate of the

sandwich, and Seth ate the rest. What is the ratio of

Jerome�s share to Kevin�s share to Seth�s share?

2:3:6
2:6:3
3:1:2
3:2:1
6:3:2

A particular circle in the standard ( , ) coordinate
plane has an equation of ( 5)2 2 38. What are
the radius of the circle, in coordinate units, and the
coordinates of the center of the circle?

radius center

38 ( 5,0)

0019 ( 5,0)

0038 ( 5,0)

38 ( 5,0)

0019 ( 5,0)
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